prepared by EHS	1					1				ı	
	No.: B-11-012-DD	Contract	: C-11-012-DD	શ્ર						C	
	SAN ANTONIO WATER SYSTEM			Pronto Sandblasting & Coating Oilfield Services, Co., Inc.	8	ပ်	_	l	4	Construction Co., Inc. Prairie Creek Rd e Shoals, TX 78654	
				oat,	Jilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223 Du-Mor Enterprises, Inc. 7626 Grissom Rd San Antonio, TX 78251		Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		o Mex Construction Co., I. 2801 Prairie Creek Rd Granite Shoals, TX 78654		
			2449	, S	9456 South Presa 1 Antonio, TX 78;	Še,		Atlas Construction 312 Sunset Dr	X	) n C	X 7
	SAN ANTONIO, TEXAS 78298-2449			eg 8 ss, h P		Du-Mor Enterprises, l 7626 Grissom Rd San Antonio, TX 782		et Iruk	Ę	Cre Ctic	Ę
TABULATION OF BIDS			nto Sandblasting o	outl io,	iter.	riss io, -	Suc	als	itru	als	
PROPOSAL	<i>:</i> :	Job Nos. 1	1-5006 & 11-5506	blas	SSC	臣 (	5 6	) v	Sho	ons	sho
		2011 Water	r & Sewer Construction	lb to the state of	456 Ant	for	Ani Ani	tlas	<u>2</u>	L S	te e
		Project - Pa	ackage IV	Sa Sa	an 6	- n	an an	₹	ami	Oro Mex 2801	ami
TIME &		2:00 p.m.		Oii	Š	Ā	Ω.		<b></b> రా	0.0	5
		•		Pro						Ō	
DATE:		March 29,	2011 T		1		1		1		<u> </u>
Item No.	Estimate Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
-				CIRCLE TREE	1000	cint i rice	1000	Cint Trice	1000	Cint I I Icc	1000
Water B		I.E.	(102) Damayia Camanata Cumb	#2.00	¢452.00	¢1.05	#227.20	ф <b>г</b> 00	£1 120 00	φ.ς. o.o.	¢1 120 00
2	226.00 672.00	LF SF	(103) Remove Concrete Curb (103) Remove Sidewalks and Driveways	\$2.00 \$3.00	\$452.00 \$2,016.00	\$1.05 \$1.75	\$237.30 \$1,176.00	\$5.00 \$5.00	\$1,130.00 \$3,360.00	\$5.00 \$6.00	\$1,130.00 \$4,032.00
3	50.00	SF	(103) Remove Miscellaneous Concrete	\$5.00	\$2,010.00	\$16.25	\$1,176.00	\$20.00	\$1,000.00	\$6.00	\$300.00
3	30.00	51	(205) Hot Mix Asphaltic Pavement Type D	ψ5.00	Ψ230.00	ψ10.23	ψ012.30	\$20.00	\$1,000.00	ψ0.00	ψ300.00
4	600.00	SY	(2" Compacted Depth)	\$42.00	\$25,200.00	\$11.00	\$6,600.00	\$12.00	\$7,200.00	\$11.00	\$6,600.00
'	000.00		(206) Asphalt Treated Base - (10"	\$ 12.00	\$25,200.00	Ψ11.00	\$0,000.00	\$12.00	Ç.,200.00	ψ11.00	\$0,000.00
5	400.00	SY	Compacted Depth)	\$70.00	\$28,000.00	\$32.00	\$12,800.00	\$35.00	\$14,000.00	\$65.00	\$26,000.00
			(208) Salvaging, Hauling, and Stockpiling								
6	50.00	SY	Reclaimable Asphaltic Pavement (2")	\$27.00	\$1,350.00	\$18.00	\$900.00	\$50.00	\$2,500.00	\$15.00	\$750.00
7	100.00	CY	(413) Flowable Fill	\$110.00	\$11,000.00	\$132.00	\$13,200.00	\$100.00	\$10,000.00	\$90.00	\$9,000.00
0	266.00	IE	(500) Concrete Curb, Gutter, and Concrete Curb and Gutter	\$20.00	¢5 220 00	¢20.50	67.501.00	¢25.00	\$6.650.00	\$25.00	\$c (50.00
8	266.00 75.00	LF SY	(502) Concrete Sidewalks	\$20.00 \$70.00	\$5,320.00 \$5,250.00	\$28.50 \$57.00	\$7,581.00 \$4,275.00	\$25.00 \$65.00	\$6,650.00 \$4,875.00	\$25.00 \$49.00	\$6,650.00 \$3,675.00
10	20.00	SY	(502) Concrete Sidewarks (502) Concrete Wheelchair Ramp	\$100.00	\$2,000.00	\$170.00	\$3,400.00	\$100.00	\$2,000.00	\$650.00	\$13,000.00
11	25.00	SY	(503) Portland Cement Concrete Driveway	\$77.00	\$1,925.00	\$57.00	\$1,425.00	\$100.00	\$2,500.00	\$50.00	\$1,250.00
			(503) Portland Cement Concrete Driveway -		, ,,	, , , , , ,	. ,		. ,-		. ,
12	20.00	SY	Commercial	\$80.00	\$1,600.00	\$63.00	\$1,260.00	\$100.00	\$2,000.00	\$55.00	\$1,100.00
13	8.00	SY	(505) Concrete Riprap (5" Thick)	\$100.00	\$800.00	\$85.00	\$680.00	\$125.00	\$1,000.00	\$57.00	\$456.00
			(506) Concrete Retaining Walls -								
14	7.00	CY	Combination Type (511) Replacing with Hot Mix Asphaltic	\$750.00	\$5,250.00	\$290.00	\$2,030.00	\$500.00	\$3,500.00	\$900.00	\$6,300.00
			Concrete Pavement - Type B (3"								
15	40.00	SY	Compacted Depth)	\$50.00	\$2,000.00	\$17.75	\$710.00	\$30.00	\$1,200.00	\$22.00	\$880.00
16	20.00	CY	(515) Topsoil	\$25.00	\$500.00	\$30.00	\$600.00	\$50.00	\$1,000.00	\$25.00	\$500.00
17	80.00	SY	(516) Bermuda Sodding	\$6.00	\$480.00	\$6.50	\$520.00	\$12.50	\$1,000.00	\$18.00	\$1,440.00
18	4,800.00	LF	(550) Trench Protection	\$1.00	\$4,800.00	\$2.50	\$12,000.00	\$1.00	\$4,800.00	\$2.50	\$12,000.00
19	1,300.00	LF	(814) 8" Ductile Iron Pipe (Restrained)	\$53.00	\$68,900.00	\$53.00	\$68,900.00	\$60.00	\$78,000.00	\$42.00	\$54,600.00
20	200.00	LF	(818) 6" PVC Waterline (Restrained) (818) 6" PVC Waterline (Restrained-	\$37.00	\$7,400.00	\$45.00	\$9,000.00	\$45.00	\$9,000.00	\$36.00	\$7,200.00
21	500.00	LF	Temporary)	\$39.00	\$19,500.00	\$39.00	\$19,500.00	\$200.00	\$100,000.00	\$38.00	\$19,000.00
22	1,300.00	LF	(818) 8" PVC Waterline (Restrained)	\$48.00	\$62,400.00	\$41.00	\$53,300.00	\$50.00	\$65,000.00	\$30.00	\$39,000.00
23	1,000.00	LF	(818) 12" PVC Waterline (Restrained)	\$56.00	\$56,000.00	\$85.00	\$85,000.00	\$65.00	\$65,000.00	\$53.00	\$53,000.00
24	100.00	LF	(818) 16" PVC Waterline (Restrained)	\$84.00	\$8,400.00	\$74.00	\$7,400.00	\$85.00	\$8,500.00	\$71.00	\$7,100.00
25	400.00	LF	(818) 24" PVC Waterline (Restrained)	\$148.00	\$59,200.00	\$108.00	\$43,200.00	\$150.00	\$60,000.00	\$128.00	\$51,200.00
26	2.00	EA	(824) Reconnect 3/4" Short Service	\$580.00	\$1,160.00	\$630.00	\$1,260.00	\$1,250.00	\$2,500.00	\$700.00	\$1,400.00
27	50.00	EA	(824) Relay 3/4" Short Service	\$600.00	\$30,000.00	\$830.00	\$41,500.00	\$800.00	\$40,000.00	\$800.00	\$40,000.00 \$41,850.00
28	45.00 4.00	EA EA	(824) Relay 3/4" Long Service (824) Relay 1" Short Service	\$980.00 \$900.00	\$44,100.00 \$3,600.00	\$1,510.00 \$907.00	\$67,950.00 \$3,628.00	\$900.00 \$1,000.00	\$40,500.00 \$4,000.00	\$930.00 \$800.00	\$41,850.00
30	2.00	EA	(824) Relay 1" Long Service	\$1,400.00	\$2,800.00	\$1,625.00	\$3,250.00	\$1,000.00	\$2,400.00	\$1,100.00	\$2,200.00
31	2.00	EA	(824) Relay 1-1/2" Short Service	\$1,300.00	\$2,600.00	\$1,175.00	\$2,350.00	\$1,100.00	\$2,200.00	\$1,100.00	\$2,200.00
32	2.00	EA	(824) Relay 1-1/2" Long Service	\$2,000.00	\$4,000.00	\$2,060.00	\$4,120.00	\$1,400.00	\$2,800.00	\$1,500.00	\$3,000.00
33	2.00	EA	(824) Relay 2" Short Service	\$1,800.00	\$3,600.00	\$1,410.00	\$2,820.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00
34	2.00	EA	(824) Relay 2" Long Service	\$2,700.00	\$5,400.00	\$2,550.00	\$5,100.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00
35	1.00	EA	(824) Relay 4" Short Service	\$1,700.00	\$1,700.00	\$5,470.00	\$5,470.00	\$2,500.00	\$2,500.00	\$2,200.00	\$2,200.00
36	1.00 1.00	EA EA	(824) Relay 4" Fire Line (824) Relay 6" Fire Line	\$2,900.00 \$4,400.00	\$2,900.00 \$4,400.00	\$5,470.00 \$5,750.00	\$5,470.00 \$5,750.00	\$2,200.00 \$2,500.00	\$2,200.00 \$2,500.00	\$2,500.00 \$3,000.00	\$2,500.00 \$3,000.00
38	2.00	EA	(824) New 3/4" Short Service	\$4,400.00	\$1,220.00	\$830.00	\$5,750.00	\$2,500.00	\$2,500.00	\$3,000.00	\$1,500.00
39	2.00	EA	(824) New 3/4" Long Service	\$1,000.00	\$2,000.00	\$1,510.00	\$3,020.00	\$1,200.00	\$2,400.00	\$900.00	\$1,800.00
40	2.00	EA	(824) New 3/4" Short Unmetered Service	\$600.00	\$1,200.00	\$830.00	\$1,660.00	\$1,000.00	\$2,000.00	\$750.00	\$1,500.00
41	2.00	EA	(824) New 3/4" Long Unmetered Service	\$1,000.00	\$2,000.00	\$1,510.00	\$3,020.00	\$1,200.00	\$2,400.00	\$900.00	\$1,800.00
41	5.00	EA	(824) Relocate 3/4" Short Service	\$1,000.00	\$3,500.00	\$1,510.00	\$4,150.00	\$1,200.00	\$5,000.00	\$800.00	\$4,000.00
43	5.00	EA	(824) Relocate 3/4" Long Service	\$3,000.00	\$15,000.00	\$1,510.00	\$7,550.00	\$1,000.00	\$5,500.00	\$950.00	\$4,750.00
44	2.00	EA	(824) Relocate 1" Long Service	\$800.00	\$1,600.00	\$1,665.00	\$3,330.00	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00
45	2.00	EA	(824) Relocate 1" Long Service	\$1,200.00	\$2,400.00	\$1,665.00	\$3,330.00	\$1,100.00	\$2,200.00	\$1,100.00	\$2,200.00

prepared by EHS											
	No.: B-11-012-DD	Contract	l C-11-012-DD	શ્રું .						ပ	
SAN ANTONIO WATER SYSTEM			ing c.	~	5 -		4		I MI 4		
SAN ANTUNIU WATEK SYSTEM			Coating	223	l In	Du-Mor Enterprises, Inc. 7626 Grissom Rd San Antonio, TX 78251		Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		78654	
P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449			Sandblasting & Coating field Services, Co., Inc. 9456 South Presa in Antonio, TX 78223		Mor Enterprises, 1 7626 Grissom Rd 1 Antonio, TX 782		tion !	22	n C k	32.3	
					risc	E X	] E E	Ϋ́.	tio Yee	Ę	
TABULATION OF BIDS				Pronto Sandblasting & Oilfield Services, C	9456 South Pr San Antonio, TX	erp	7626 Grissom San Antonio, TX	Atlas Construction 312 Sunset Dr.	ds,	Qro Mex Construction Co., Inc. 2801 Prairie Creek Rd	Granite Shoals, TX
PROPOSAL	•	Job Nos. 11	-5006 & 11-5506	last	Sou	1 H	5 ·ğ	Suj	10a	nst:	10a
r Kor obrit				ф [Se]	ontc	l r	ntc ntc	as (	S		S
			& Sewer Construction	San	94.	Į Ž	0 <del>V</del>	Ja Atti	ite	× 5	nite
		Project - Pa	ckage IV	o S	San		San	`	irar	8 <u>X</u>	rar
TIME &		2:00 p.m.		Out	<b>3</b> 1	"	<b>3</b> 1		9	ro	G
DATE:		March 29, 2	2011	Ą							
DATE.		Unit of									1
Item No.		Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
46	10.00	EA	(824) Customer Shut-off Valve	\$150.00	\$1,500.00	\$225.00	\$2,250.00	\$300.00	\$3,000.00	\$90.00	\$900.00
47	5.00	EA	(826) Valve Box Adjustment	\$120.00	\$600.00	\$250.00	\$1,250.00	\$400.00	\$2,000.00	\$65.00	\$325.00
48	6.00	EA	(828) 6" Gate Valve	\$1,200.00	\$7,200.00	\$975.00	\$5,850.00	\$1,100.00	\$6,600.00	\$800.00	\$4,800.00
49	15.00	EA	(828) 8" Gate Valve	\$1,400.00	\$21,000.00	\$1,385.00	\$20,775.00	\$1,500.00	\$22,500.00	\$1,100.00	\$16,500.00
50	6.00	EA	(828) 12" Gate Valve	\$2,500.00	\$15,000.00	\$2,425.00	\$14,550.00	\$2,100.00	\$12,600.00	\$1,900.00	\$11,400.00
51	1.00	EA	(828) 16" Gate Valve	\$8,500.00	\$8,500.00	\$6,398.00	\$6,398.00	\$4,500.00	\$4,500.00	\$5,100.00	\$5,100.00
52	1.00	EA	(828) 24" Butterfly Valve	\$13,000.00	\$13,000.00	\$13,066.00	\$13,066.00	\$7,500.00	\$7,500.00	\$10,100.00	\$10,100.00
53	1.00	EA	(831) 6" x 6" Tee Cut In	\$1,200.00	\$1,200.00	\$1,320.00	\$1,320.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
54	1.00	EA	(831) 8" x 6" Tee Cut In	\$1,500.00	\$1,500.00	\$1,875.00	\$1,875.00	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00
55	1.00	EA	(831) 8" x 8" Tee Cut In	\$1,800.00	\$1,800.00	\$2,285.00	\$2,285.00	\$3,500.00	\$3,500.00	\$2,800.00	\$2,800.00
56	1.00	EA	(832) 16" x 8" Tapping Sleeve & Valve	\$4,500.00	\$4,500.00	\$5,640.00	\$5,640.00	\$5,500.00	\$5,500.00	\$3,850.00	\$3,850.00
57	1.00	EA	(832) 20" x 16" Tapping Sleeve & Valve	\$13,000.00	\$13,000.00	\$7,875.00	\$7,875.00	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00
58	1.00	EA	(832) 24" x 8" Tapping Sleeve & Valve	\$7,000.00	\$7,000.00	\$8,150.00	\$8,150.00	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00
	27.00	<b>-</b> .	(833) Existing Meter & Meter Box			****		****		44.50.00	
59	25.00	EA	Relocation	\$100.00	\$2,500.00	\$222.00	\$5,550.00	\$250.00	\$6,250.00	\$150.00	\$3,750.00
	25.00	<b></b>	(833) Existing Meter & New Meter Box	#120.00	#2 000 00	#205.00	φ <b>7.125</b> .00	#200.00	# <b>7</b> 500 00	#225.00	Ø5 (25 00
60	25.00	EA	Relocation	\$120.00	\$3,000.00	\$285.00	\$7,125.00	\$300.00	\$7,500.00	\$225.00	\$5,625.00
61	8.00 4.00	EA TN	(834) Fire Hydrant (836) Pipe Fittings, All Sizes and Types	\$4,200.00 \$5,200.00	\$33,600.00 \$20,800.00	\$3,500.00 \$9,400.00	\$28,000.00 \$37,600.00	\$4,000.00 \$5,000.00	\$32,000.00 \$20,000.00	\$3,200.00 \$15,000.00	\$25,600.00 \$60,000.00
63	10.00	EA	(840) 6" Water Tie-Ins	\$1,000.00	\$10,000.00	\$1,275.00	\$12,750.00	\$2,500.00	\$25,000.00	\$2,500.00	\$25,000.00
64	4.00	EA	(840) 8" Water Tie-Ins	\$1,200.00	\$4,800.00	\$1,850.00	\$7,400.00	\$3,000.00	\$12,000.00	\$3,000.00	\$12,000.00
65	2.00	EA	(840) 10" Water Tie-Ins	\$1,500.00	\$3,000.00	\$1,900.00	\$3,800.00	\$4,000.00	\$8,000.00	\$3,300.00	\$6,600.00
66	4.00	EA	(840) 12" Water Tie-Ins	\$1,800.00	\$7,200.00	\$1,950.00	\$7,800.00	\$5,000.00	\$20,000.00	\$3,200.00	\$12,800.00
67	1.00	EA	(840) 16" Water Tie-Ins	\$2,700.00	\$2,700.00	\$2,710.00	\$2,710.00	\$7,500.00	\$7,500.00	\$3,500.00	\$3,500.00
68	1.00	EA	(840) 24" Water Tie-Ins	\$4,800.00	\$4,800.00	\$4,175.00	\$4,175.00	\$9,500.00	\$9,500.00	\$7,500.00	\$7,500.00
69	5.00	EA	(841) Hydrostatic Testing	\$2,800.00	\$14,000.00	\$1,350.00	\$6,750.00	\$2,000.00	\$10,000.00	\$2,000.00	\$10,000.00
70	8.00	EA	(844) 2" Blow-off, Temporary	\$1,100.00	\$8,800.00	\$975.00	\$7,800.00	\$2,000.00	\$16,000.00	\$1,500.00	\$12,000.00
71	2.00	EA	(844) 2" Blow-off, Permanent	\$1,300.00	\$2,600.00	\$1,830.00	\$3,660.00	\$2,500.00	\$5,000.00	\$1,750.00	\$3,500.00
72	2.00	EA	(846) 1"Air Release Valve	\$1,300.00	\$2,600.00	\$1,850.00	\$3,700.00	\$2,000.00	\$4,000.00	\$1,950.00	\$3,900.00
73	40.00	LF	(856) 16" Steel Casing (Open Cut)	\$80.00	\$3,200.00	\$52.00	\$2,080.00	\$100.00	\$4,000.00	\$130.00	\$5,200.00
74	40.00	LF	(856) 18" Steel Casing (Open Cut)	\$90.00	\$3,600.00	\$53.00	\$2,120.00	\$125.00	\$5,000.00	\$140.00	\$5,600.00
75	40.00	LF	(856) 20" Steel Casing (Open Cut)	\$100.00	\$4,000.00	\$55.00	\$2,200.00	\$150.00	\$6,000.00	\$180.00	\$7,200.00
76	40.00	LF	(856) 24" Steel Casing (Open Cut)	\$120.00	\$4,800.00	\$60.00	\$2,400.00	\$175.00	\$7,000.00	\$200.00	\$8,000.00
			(856) Jack, Boring and Tunneling 24"								
77	40.00	LF	Casing	\$500.00	\$20,000.00	\$410.00	\$16,400.00	\$300.00	\$12,000.00	\$240.00	\$9,600.00
78	40.00	LF	(856) 6" Carrier Pipe	\$26.00	\$1,040.00	\$42.00	\$1,680.00	\$65.00	\$2,600.00	\$60.00	\$2,400.00
79	40.00	LF	(856) 8" Carrier Pipe	\$31.00	\$1,240.00	\$43.00	\$1,720.00	\$75.00	\$3,000.00	\$65.00	\$2,600.00
80	40.00	LF	(856) 12" Carrier Pipe	\$44.00	\$1,760.00	\$32.82	\$1,312.80	\$100.00	\$4,000.00	\$70.00	\$2,800.00
81	40.00	LF	(856) 16" Carrier Pipe	\$60.00	\$2,400.00	\$58.00	\$2,320.00	\$125.00	\$5,000.00	\$76.00	\$3,040.00
82	40.00	LF	(856) 24" Carrier Pipe	\$100.00	\$4,000.00	\$141.00	\$5,640.00	\$150.00	\$6,000.00	\$120.00	\$4,800.00
			(3000) Removal, Transportation and								
83	4.00	EA	Disposal of A.C. Pipe	\$1,200.00	\$4,800.00	\$1,200.00	\$4,800.00	\$2,000.00	\$8,000.00	\$8,000.00	\$32,000.00
			Sub total bid amount for Water Bid items:		\$782,213.00		\$805,671.60		\$922,865.00		\$807,453.00
Sanitary	Sewer Bid It										
1	266.00	LF	(103) Remove Concrete Curb	\$2.00	\$532.00	\$1.05	\$279.30	\$5.00	\$1,330.00	\$5.00	\$1,330.00
2	672.00	SF	(103) Remove Sidewalks and Driveways	\$3.00	\$2,016.00	\$1.75	\$1,176.00	\$5.00	\$3,360.00	\$6.00	\$4,032.00
3	50.00	SF	(103) Remove Miscellaneous Concrete	\$5.00	\$250.00	\$16.25	\$812.50	\$20.00	\$1,000.00	\$6.00	\$300.00
			(205) Hot Mix Asphaltic Pavement Type D			1					1
4	1,500.00	SY	(2" Compacted Depth)	\$42.00	\$63,000.00	\$11.00	\$16,500.00	\$12.00	\$18,000.00	\$11.00	\$16,500.00
	,,		(206) Asphalt Treated Base - (10"		. ,				,		
5	1,300.00	SY	Compacted Depth)	\$70.00	\$91,000.00	\$32.00	\$41,600.00	\$35.00	\$45,500.00	\$65.00	\$84,500.00
			(208) Salvaging, Hauling, and Stockpiling								
6	50.00	SY	Reclaimable Asphaltic Pavement (2")	\$27.00	\$1,350.00	\$18.00	\$900.00	\$25.00	\$1,250.00	\$15.00	\$750.00
			(413) Flowable Fill	\$105.00	\$63,525.00	\$132.00	\$79,860.00	\$100.00	\$60,500.00	\$90.00	\$54,450.00

	prepared by EHS Solicitation No.: B-11-012-DD		C-11-012-DD	ating & Inc.	33	ပ်	1		54	, Inc.	54
PROPOSAL:		P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 11-5006 & 11-5506 2011 Water & Sewer Construction Project - Package IV		Sandblasting & Co field Services, Co., 9456 South Presa m Antonio, TX 782		Du-Mor Enterprises, Inc. 7626 Grissom Rd San Antonio, TX 78251		Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		o Mex Construction Co., 2801 Prairie Creek Rd Granite Shoals, TX 7865	
TIME &	TME & 2:00 p.m.		conto						Oro G		
DATE:		March 29, 2	2011	P.							
		Unit of									
Item No.	Estimate Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
			(500) Concrete Curb, Gutter, and Concrete								
8	266.00		Curb and Gutter	\$20.00	\$5,320.00	\$28.50	\$7,581.00	\$25.00	\$6,650.00	\$25.00	\$6,650.00
9	75.00	SY	(502) Concrete Sidewalks	\$70.00	\$5,250.00	\$57.00	\$4,275.00	\$65.00	\$4,875.00	\$49.00	\$3,675.00
10	20.00	SY	(502) Concrete Wheelchair Ramp	\$100.00	\$2,000.00	\$170.00	\$3,400.00	\$100.00	\$2,000.00	\$650.00	\$13,000.00
11	1 20.00 SY (503) Portland Cement Concrete Driveway		(503) Portland Cement Concrete Driveway	\$77.00	\$1,540.00	\$57.00	\$1,140.00	\$100.00	\$2,000.00	\$50.00	\$1,000.00
			(503) Portland Cement Concrete Driveway -								
12	20.00	SY	Commercial	\$80.00	\$1,600.00	\$63.00	\$1,260.00	\$100.00	\$2,000.00	\$55.00	\$1,100.00
13	5.00	SY	(505) Concrete Riprap (5" Thick)	\$100.00	\$500.00	\$85.00	\$425.00	\$200.00	\$1,000.00	\$57.00	\$285.00
			(506) Concrete Retaining Walls -								
14	5.00	CY	Combination Type	\$750.00	\$3,750.00	\$290.00	\$1,450.00	\$500.00	\$2,500.00	\$900.00	\$4,500.00

prepared by EHS	,					I				1	
	No.: B-11-012-DD	Contra	ct l C-11-012-DD	8						.:	
Done Hatton 1	SAN ANTONIO WATER SYSTEM			c iii	~	.:	_	Atlas Construction 312 Sunset Dr. Granite Shoals, TX 78654		Qro Mex Construction Co., Inc. 2801 Prairie Creek Rd Granite Shoals, TX 78654	
				Pronto Sandblasting & Coating Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223		Inc	251	_ ا	365	,o.,	365
		P. O. BO	X 2449	C. C. 26.4		Du-Mor Enterprises, Inc. 7626 Grissom Rd San Antonio, TX 78251		]. ioi	22	<u> </u>	22
	SAI		SAN ANTONIO, TEXAS 78298-2449		Ā Ķ	rise	E ×	L det	X	lioi Tee	X
	TABULATION OF BIDS			nto Sandblasting & Cc Oilfield Services, Co., 9456 South Presa San Antonio, TX 78;		Du-Mor Enterpris 7626 Grissom San Antonio, TX		Construction Sunset Dr.	. <u>.</u>	Ja O e	, <u>,</u>
PROPOSAI		Ioh Mos	11-5006 & 11-5506	ast	Sou	inte	F :음	l Sor	oa	l str	oa
FROFOSAL	<b>J.</b>			S S	96 9 nto	12 3	of of	ls (	$\sim$	Fr. Sor	₽.
		2011 Wat	er & Sewer Construction	ano	4.5 A	M <sub>C</sub>	7 A	Atlas 312	iite	× 20	ite
		Project - I	Package IV	S c	an		an		ran	Z80 Me	Granite Shoals, TX 78654
TIME &		2:00 p.m.		Į į	01	Д	01		G	ro	Ü
DATE		M1- 20	2011	Prc						<b> </b>	
DATE:	I	March 29 Unit of	, 2011		Ι		I		I		I
Item No.		Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
			(511) Replacing with Hot Mix Asphaltic								
			Concrete Pavement - Type B (3"								
15	40.00	SY	Compacted Depth)	\$50.00	\$2,000.00	\$17.75	\$710.00	\$25.00	\$1,000.00	\$22.00	\$880.00
16	10.00	CY	(515) Topsoil	\$25.00	\$250.00	\$30.00	\$300.00	\$100.00	\$1,000.00	\$25.00	\$250.00
17	20.00	SY	(516)Bermuda Sodding	\$6.00	\$120.00	\$6.50	\$130.00	\$50.00	\$1,000.00	\$18.00	\$360.00
18	20.00	SY	(516) St. Augustine Sodding	\$6.00	\$120.00	\$6.50	\$130.00	\$50.00	\$1,000.00	\$18.00	\$360.00
19	7,150.00	LF	(550) Trench Protection	\$1.00	\$7,150.00	\$2.50	\$17,875.00	\$2.00	\$14,300.00	\$2.50	\$17,875.00
20	2.00	EA	(846) 1" Sewer Air Valve	\$3,900.00	\$7,800.00	\$4,050.00	\$8,100.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
			(848) 6" PVC Gravity Sanitary Sewer Pipe								
			(SDR 26-3034, 115 psi or SDR 26-2241,							1	
21	100.00	LF	160 psi) (0'-10' Cut)	\$30.00	\$3,000.00	\$72.00	\$7,200.00	\$55.00	\$5,500.00	\$38.00	\$3,800.00
			(848) 8" PVC Gravity Sanitary Sewer Pipe	1					_	I	_
			(SDR 26-3034, 115 psi or SDR 26-2241,								
22	3,000.00	LF	160 psi) (0'-10' Cut)	\$39.00	\$117,000.00	\$77.00	\$231,000.00	\$55.00	\$165,000.00	\$40.00	\$120,000.00
			(848) 8" PVC Gravity Sanitary Sewer Pipe								
			(SDR 26-3034, 115 psi or SDR 26-2241,								
23	100.00	LF	160 psi) (10'-14' Cut)	\$48.00	\$4,800.00	\$97.00	\$9,700.00	\$75.00	\$7,500.00	\$42.00	\$4,200.00
			(848) 8" PVC Gravity Sanitary Sewer Pipe	7.0.00	7 1,000100	42.1100	42,70000	7,0,00	71,00000	7.2	7 1,=00100
			(SDR 26-3034, 115 psi or SDR 26-2241,								
24	100.00	LF	160 psi) (14'-22' Cut)	\$56.00	\$5,600.00	\$127.00	\$12,700.00	\$100.00	\$10,000.00	\$65.00	\$6,500.00
			(848) 10" PVC Gravity Sanitary Sewer Pipe		. ,						
			(SDR 26-3034, 115 psi or SDR 26-2241,								
25	350.00	LF	160 psi) (0'-10' Cut)	\$43.00	\$15,050.00	\$79.00	\$27,650.00	\$60.00	\$21,000.00	\$45.00	\$15,750.00
			(848) 12" PVC Gravity Sanitary Sewer Pipe	9							
			(SDR 26-3034, 115 psi or SDR 26-2241,								
26	1,500.00	LF	160 psi) (0'-10' Cut)	\$47.00	\$70,500.00	\$84.00	\$126,000.00	\$60.00	\$90,000.00	\$48.00	\$72,000.00
			(848) 12" PVC Gravity Sanitary Sewer Pipe								
			(SDR 26-3034, 115 psi or SDR 26-2241,								
27	100.00	LF	160 psi) (10'-14' Cut)	\$56.00	\$5,600.00	\$104.00	\$10,400.00	\$100.00	\$10,000.00	\$65.00	\$6,500.00
			(848) 12" PVC Gravity Sanitary Sewer Pipe	9							
20	100.00		(SDR 26-3034, 115 psi or SDR 26-2241,	¢<4.00	Ø6 400 00	¢124.00	¢12 400 00	£150.00	¢15 000 00	¢07.00	eo 500 00
28	100.00	LF	160 psi) (14'-22' Cut) (848) 15" PVC Gravity Sanitary Sewer Pipe	\$64.00	\$6,400.00	\$134.00	\$13,400.00	\$150.00	\$15,000.00	\$85.00	\$8,500.00
			(SDR 26-3034, 115 psi or SDR 26-2241,	1						1	
29	100.00	LF	(SDR 20-3034, 113 psi of SDR 20-2241, 160 psi) (0'-10' Cut)	\$58.00	\$5,800.00	\$95.00	\$9,500.00	\$65.00	\$6,500.00	\$60.00	\$6,000.00
	100.00	I-II.	(848) 15" PVC Gravity Sanitary Sewer Pipe		φ5,000.00	φ33.00	φ2,500.00	φυ <b>3.</b> 00	φυ,500.00	φυυ.υυ	φυ,υυυ.υυ
			(SDR 26-3034, 115 psi or SDR 26-2241,							1	
30	100.00	LF	160 psi) (10'-14' Cut)	\$63.00	\$6,300.00	\$110.00	\$11,000.00	\$100.00	\$10,000.00	\$75.00	\$7,500.00
			(848) 18" PVC Gravity Sanitary Sewer Pipe		. ,		. ,		,		. ,
			(SDR 26-3034, 115 psi or SDR 26-2241,							1	
31	100.00	LF	160 psi) (0'-10' Cut)	\$61.00	\$6,100.00	\$107.00	\$10,700.00	\$75.00	\$7,500.00	\$65.00	\$6,500.00
			(848) 18" PVC Gravity Sanitary Sewer Pipe								
			(SDR 26-3034, 115 psi or SDR 26-2241,							1	
32	100.00	LF	160 psi) (10'-14' Cut)	\$70.00	\$7,000.00	\$127.00	\$12,700.00	\$150.00	\$15,000.00	\$75.00	\$7,500.00
			(848) 24" PVC Gravity Sanitary Sewer Pipe	e							
			(SDR 26-3034, 115 psi or SDR 26-2241,								
33	100.00	LF	160 psi) (0'-10' Cut)	\$81.00	\$8,100.00	\$129.00	\$12,900.00	\$100.00	\$10,000.00	\$90.00	\$9,000.00
			(848) 24" PVC Gravity Sanitary Sewer Pipe							1	
2.4	100.00		(SDR 26-3034, 115 psi or SDR 26-2241,	***	#0.000.00	A17100	p15 100 00	<b>#</b> 200 65	### A A A A A A A A A	0120.55	#12.000.00
34	100.00	LF	160 psi) (10'-14' Cut)	\$89.00	\$8,900.00	\$151.00	\$15,100.00	\$200.00	\$20,000.00	\$120.00	\$12,000.00
25	1 200 00	1.17	(2620) 12" Sanitary Sewer Force Main	\$60.00	\$91 <i>6</i> 00 00	¢02.00	\$00,400,00	\$70.00	\$94,000,00	\$100.00	\$120,000,00
35	1,200.00 5.00	LF EA	HDPE (DR11) (850) Adjust Existing Manhole	\$68.00 \$300.00	\$81,600.00 \$1,500.00	\$82.00 \$1,290.00	\$98,400.00 \$6,450.00	\$70.00 \$1,500.00	\$84,000.00 \$7,500.00	\$100.00 \$1,800.00	\$120,000.00 \$9,000.00
36	2.00	EA EA	(850) Sanitary Sewer Manhole Structure	\$300.00	\$1,500.00	\$1,290.00 \$6,500.00	\$13,000.00	\$1,500.00	\$16,000.00	\$1,800.00	\$9,000.00
38	16.00	EA	(852) Sanitary Sewer Manhole (0'-6')	\$4,200.00	\$67,200.00	\$3,850.00	\$61,600.00	\$4,500.00	\$72,000.00	\$3,600.00	\$57,600.00
36	10.00	ĽΑ	(002) Danitary Dewel Mailliole (0-0)	φ+,200.00	\$07,200.00	\$3,830.00	\$01,000.00	φ+,300.00	φ12,000.00	\$3,000.00	φυ1,000.00

prepared by EHS				જ્						l .		
Solicitation N	No.: B-11-012-DD	Contrac	t! C-11-012-DD						_	nc.	-	
	SAN ANTONIO WATER SYSTEM			atin Inc	Pronto Sandblasting & Coating Oilfield Services, Co., Inc. 9456 South Presa San Antonio, TX 78223 Du-Mor Enterprises, Inc. 7626 Grissom Rd San Antonio, TX 78251		21		Granite Shoals, TX 78654	I.d.		
		P. O. BOX	2449	℃0., ] 3., ] 822,		1,8	8 g	uo .	78	5 K	780	
			ONIO, TEXAS 78298-2449	3 2	Pre X 7	ise	4 X	L Et.	×	ion	×	
			TION OF BIDS	to Sandblasting & Co bilfield Services, Co., 9456 South Presa San Antonio, TX 782		rpr	/020 Grissom Kd San Antonio, TX 78251	Atlas Construction 312 Sunset Dr.	s, 1	Qro Mex Construction Co., Inc. 2801 Prairie Creek Rd Granite Shoals, TX 78654		
DD ODOG 4 I		_		asti rvic	oin	nte .	SITY OIC	l Son Si	oal	  stri	oal	
PROPOSAI	<i>_</i> :	Job Nos. I	1-5006 & 11-5506	lbla Se	6 S	H H	o of	S C 2 S S	Sh	Yon Pra	Sh	
		2011 Wate	er & Sewer Construction	anc	Ar Ar	4 P	Ar Ar	tla 31	ite	× [	ite	
		Project - P	ackage IV	S c	gan 5	֡֟֟֟֓֓֓֟֓֓֓֟֟֓֓֓֓֟֓֓֓֓֓֟֓֓֓֓֓֓֓֓֓֓֓֓֓֓	an '	_	tan	Me 78(	gu	
TIME &		2:00 p.m.		O it	S		Ω		<b>ගි</b>	2	<b>පි</b>	
		•	2011	Prc						Õ		
DATE:	I	March 29,	2011	, ,	1		1			<del>                                     </del>		
Item No.	Estimate Otv	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
39	7.00	EA	(852) Sanitary Sewer Drop Manhole (0'-6')	\$5,000.00	\$35,000.00	\$5,025.00	\$35,175.00	\$5,500.00	\$38,500.00	\$43,000.00	\$301,000.00	
40	30.00	VF	(852) Extra Depth Manholes (>6')	\$140.00	\$4,200.00	\$150.00	\$4,500.00	\$450.00	\$13,500.00	\$200.00	\$6,000.00	
41	1,800.00	LF	(854) Sanitary Sewer Laterals	\$28.00	\$50,400.00	\$40.00	\$72,000.00	\$30.00	\$54,000.00	\$50.00	\$90,000.00	
42	70.00	EA	(854) One-Way Sanitary Sewer Clean-out	\$300.00	\$21,000.00	\$675.00	\$47,250.00	\$550.00	\$38,500.00	\$300.00	\$21,000.00	
43	40.00	LF	(856) 18" Steel Casing (Open Cut)	\$60.00	\$2,400.00	\$56.00	\$2,240.00	\$125.00	\$5,000.00	\$150.00	\$6,000.00	
44	40.00	LF	(856) 24" Steel Casing (Open Cut)	\$80.00	\$3,200.00	\$64.00	\$2,560.00	\$150.00	\$6,000.00	\$180.00	\$7,200.00	
45	40.00	LF	(856) 36" Steel Casing (Open Cut)	\$170.00	\$6,800.00	\$123.00	\$4,920.00	\$175.00	\$7,000.00	\$240.00	\$9,600.00	
46	40.00	LF	(856) 8" Carrier Pipe	\$20.00	\$800.00	\$25.00	\$1,000.00	\$65.00	\$2,600.00	\$65.00	\$2,600.00	
47	40.00	LF	(856) 10" Carrier Pipe	\$25.00	\$1,000.00	\$34.00	\$1,360.00	\$70.00	\$2,800.00	\$75.00	\$3,000.00	
48	40.00	LF	(856) 12" Carrier Pipe	\$30.00	\$1,200.00	\$37.00	\$1,480.00	\$75.00	\$3,000.00	\$120.00	\$4,800.00	
49	40.00	LF	(856) 15" Carrier Pipe	\$41.00	\$1,640.00	\$46.00	\$1,840.00	\$100.00	\$4,000.00	\$250.00	\$10,000.00	
50	40.00	LF	(856) 24" Carrier Pipe	\$80.00	\$3,200.00	\$118.00	\$4,720.00	\$125.00	\$5,000.00	\$330.00	\$13,200.00	
			(858) Concrete Encasement, Cradles,									
51	18.00	CY	Saddles and Collars	\$140.00	\$2,520.00	\$156.00	\$2,808.00	\$150.00	\$2,700.00	\$400.00	\$7,200.00	
52	12.00	VF	(860) Vertical Stacks	\$30.00	\$360.00	\$194.00	\$2,328.00	\$150.00	\$1,800.00	\$25.00	\$300.00	
			(862) Abandonment of Sanitary Sewer									
53	2,500.00	LF	Main (12" or greater)	\$4.00	\$10,000.00	\$6.00	\$15,000.00	\$2.00	\$5,000.00	\$15.00	\$37,500.00	
54	4.00	EA	(864) Bypass Pumping (8"-12")	\$5,000.00	\$20,000.00	\$2,500.00	\$10,000.00	\$2,500.00	\$10,000.00	\$4,000.00	\$16,000.00	
55	4.00	EA	(864) Bypass Pumping (15"-24")	\$12,000.00	\$48,000.00	\$3,250.00	\$13,000.00	\$6,500.00	\$26,000.00	\$7,500.00	\$30,000.00	
56	4.00	EA	(864) Bypass Pumping (>24")	\$16,000.00	\$64,000.00	\$4,000.00	\$16,000.00	\$12,400.00	\$49,600.00	\$10,000.00	\$40,000.00	
			(866) Pre Sewer Main Television									
57	2,500.00	LF	Inspection (8"-24")	\$3.00	\$7,500.00	\$2.50	\$6,250.00	\$3.00	\$7,500.00	\$2.00	\$5,000.00	
			(866) Post Sewer Main Television									
58	2,500.00	LF	Inspection (8"-24")	\$3.00	\$7,500.00	\$2.50	\$6,250.00	\$3.00	\$7,500.00	\$1.75	\$4,375.00	
			sub total bid amount for Sewer Bid items:		\$984,243.00		\$1,127,984.80		\$1,037,765.00		\$1,323,922.00	
Traffic (	Control Bid It	tems										
			(530) Barricades, Signs, and Traffic									
			Handling (includes water and sewer work									
1	12.00	MO	per work order)	\$15,000.00	\$180,000.00	\$2,475.00	\$29,700.00	\$1,500.00	\$18,000.00	\$4,000.00	\$48,000.00	
		1			*********		*******				********	
CALEND	Total Bid Including Addendum No. 1 ALENDAR DAYS TO COMPLETE				\$1,946,456.00		\$1,963,356.40		\$1,978,630.00		\$2,179,375.00	
CALENDA	AK DAYS TO C	UMPLETE			365		365		365	<u> </u>	365	
					[1]		[2]		[3]		[4]	